Mt ' 2,20 92 .70

And a goat was tied to it — 39 N5 973 1O

OVERVIEW

The X713 (in trying to ascertain whether X1 D1wn WX or 11n DWnA) cites a 7I1wn
which states if someone ignited a granary and there was a goat tied to the granary
(so it could not escape) and a slave (°1¥1> 72v) was near the granary, the igniter of
the fire is liable to pay (for the granary and the goat). If however the 72¥ was tied
to the granary (so he could not escape the fire) and the goat was near the granary
the p°777 is not liable to pay for the granary and the goat; since it is a case of % op
711 72773, he is liable for the death penalty for killing the 72y, so he is exempt
from any monetary payments. [The X713 continues that this seemingly proves that
X 2Wwn WwK.] Our M0N0 discusses why the 771wn mentions a (tied) goat.

nvoIn asks:
- 191 N9 M7 Ms Tay) »1) NOYD) TIND Ta¥) 21 XYW INHT NN

It is astounding! For let the Xin of the 71wn teach us in the Xw>9 (where he is 211
for the *72 [and the w>73]) that the 7apY 573 were close to the w7» (and neither was
tied up), and in the X2%0 (where he is o) it should state that the 72pY 573 were
tied to the w73, for this will be an even greater novelty?!

N1B0IN answers:
- 2M19a9 19 15 3193 3137 NN 13 INIDY 13939 W)

And the 2''2w1 explained that indeed the goat also should have run away from

the fire -
- 2299m N3N IND9A NPYT 7190 723 793 Y1) NPT XYM

And the xws1 which stated, ‘a tied goat and a slave nearby’; it is specifically in
this manner that the P57 is 29 -

mMdoIN responds to an anticipated question:*

"' In the xw>1 he will be 2> for the 73 even though it was not tied up and could have run away from the fire,

nevertheless he is 21 (see M9 72y 17"7 °"w towards the end where he writes 73 %23 BP1 7101 N1DI T2V 223 VPIT 7K

2°°17 511 VA0 MDD IR ORI NYT 12 PR 7AW 1112717 777 12 PR 07327 A"YRY 701 mod). In the X9°0 he will be 1o for the

73, even though it was tied up and could not escape, since n"2%p.

? This is in opposition to *"w7 mentioned in footnote # 1.

? The 72y should have run away so there is no An» 211 (and therefore no »"2%p) and since the goat was tied he is

liable. However if the goat was untied he would not be liable to pay for the goat (even if the 72y was only 17 710 and

not N192), since the goat should have escaped the fire.

* Why does the X9°0 state that by 12 710 >731 M93 7av he is Mo (for the >72), presumably because of 1"2%p; according
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- 19 799 7a¥ PIN Y199 1Y M5 12y 130 1) R9YODY

And in the 82°0 where it states that if the 73 was ¥ 770 and the 72y was ¥» np>
he is w9 (for the goat), the explanation of 17 N193 7231 is, ‘or the 72y was 12 n19>° -
= 9109 19 1IN0 NPNY XY 99RY 19 729 19 7190 1) XWITVD 29N

And this is the explanation of the X9°0; [the first case is] if the 73 was ¥ e
and the 72y was in the same status as we said in the X239, namely that the 72V

was also ¥ 71m®, the p°277 is =D for the 7 -
= 19299 70T OIVN 19391 NA9Ta NPV 0P NYT 2) Yy 9N

Even though there is no »''2%p (since the slave could have escaped there is no 21’1
1n°n), nevertheless since the >73 should have escaped, the p°57 is Mo for the 7.

This is the first case of the X9°0 where he is 79 if the 72v1 *73 were both 12 710 and neither was
12 m93. The second case of the X590 is -
= VO RYIA 9INRY 195 5199 19 195 21 D Mad 1am

Where the 72y was ¥ n12> and the >73 was also 152 just as we said in the xw,
the 977 is WD for the 73 —

- 7153 N2973 DY OPT NYIaY 1Y 7N KYT 22 Y 9N
Even though the >73 could not escape (since it was N92), nevertheless he 1s 70D
for the >73, since »''a%p for he is ann 20 for killing the 72y who was n93 and could not
escape.

In summation; according to *"w" the 217 and MW? in the 71wn refers to both the w73 and the 73,
and regarding the 73 it is irrelevant whether it was tied up or not, for the *73 does not have the
sense to run away from the fire. According to the 0"2w" the 2>°1 and 70> refers to the >73 (only)
and a >73 has the foresight to escape from a fire and if it was not M193, he is never liable for the >72
regardless if the 72y was N192 or not.

mooIn anticipates a difficulty:
- 5939229 199 19939 17AY (x,13 97 1PP9°9 9107 XN

And regarding that which we learnt in the end of this »92; ‘his slave is like his
body, his ox is like his money’ (which would seemingly indicate that an animal does not

to the 0"2wn if the 73 was 12 71D, he is always 1wd for the 73, regardless whether the 72y was N5 of not, since 1’7
mI22 1%,
> The "' of 7231 should be understood to mean ‘or’, instead of ‘and’.
6 721 ruled there that if one placed a burning coal on the heart of his (friend’s) slave and the slave died he is exempt,
because it is just like he placed a coal on someone’s body, where the person can (and would) remove the coal,
therefore he is 7w5. However if he placed the coal on his friend’s ox it is as if he placed it on his friend’s garment
and he is 2. It seems that regarding the 7" we do not say that the 71w (like the 72v) should have shaken off the
coal. This contradicts the view of the 0"aw" that even by the >73 we say mn123% 17 7n.
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know how to protect itself from fire); not as the 2"2w" maintains —

mooIn responds:
- DYYN DYDY DY9YANY MDD I Taya S9N

That ruling is discussing a case where the 72y and 9" were tied up and their

owners were standing next to them -
- 81’)315\’)5‘\N TN XD NIVOP PINNY 1272 AUNNY 9109 172y 2D DY NHNIN NINYD

So when he placed the coal on the heart of his friend’s slave he is 215, for he
assumes in his heart that the master of the slave will certainly remove the coal

from his slave to save the slave’s life and he will not depend on the payment that
he will receive for his dead slave; he would rather keep the slave alive. Therefore the 1 is 710D

for in his mind the slave would never have died -
=MV T IY BYYIY 29D NIP0NY PINN WYIN 1N 1NV 2D DY NMNNHYI DaN

However when he placed the coal on the heart of his friend’s ox, he is 217 for he
realizes that the master is not overly concerned to remove the coal from his ox,
since he will be paid for the value of his 1.

Mmoo offers an alternate explanation (why the X3 mentions M3 *73):°
= 29N /9D 1) PIVNINT U991 0N 122N

And the n'' explains that it was necessary to teach us that he is 21 for a tied

up °7a; the reason is -
- 91932 95 9N 1933 Fhnd 1 1PUA1T UND Pno 1399097 23 Yy 9N

for even though wx is exempt from paying for 1% as we interpret the word 71p;
just as 7mp is revealed, so too one is liable only for everything which is

revealed, but not for 1w -
- M09 XN NP PYS INY 590 NINTIN INDT 931 93T PNYT XPYD)

So we may have assumed that anything which is not in its usual manner it is

7 Therefore we cannot prove anything from that X3 whether or not an animal can protect itself from fire, since in
that case the animal (and the 72v) were tied up and could do nothing to protect themselves.
¥ A person is not that cold blooded that he would see his slave die as long as he is compensated for his loss
? This will be in disagreement with the 0"2w" and maintain like >"@1 that regarding a 73 we do not say m12% 12 711,
19 33b means hidden. If a fire burnt down a pile of wheat and there were utensils in the wheat (which do not belong
there), there is no liability to pay for the hidden utensils. See later X,0 (and the 71wn on 2,RD).
' The 09 writes regarding wx (in 71,22 [2°0own] NMmaw) that D2Y? D2W 773 IX ARPD IX WWT3 2283 D°XP AR W N¥D °2
77v27 nX wns. The word mnp refers to standing (growing) grain, which is open for all to see.
2 1t is not every 1nv that is Mwd by wX; only if it is not usual to hide it there; however if it is usual to hide it there,
there is no Mwd of 7MY (see later in this NMvOIN). Therefore we can assume that the 7wo of 1mMw excludes things that
are not in their ordinary or proper place. So just as we derive from 7np that the burnt item has to be revealed like 7np
and be in its natural state, we can perhaps also say that the burnt item has to be like finp that it is found in its natural
state, otherwise he will be Mo even if it is not Mv.
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not like 7%p, and therefore one would be 9D if he burned it -
- 1590919 PRYT KPYDY M MAY 1997 PR >N

And since a goat is not usually tied up, we may have assumed that he is

exempt from paying for burning a mo3 *7x -
= 290 9N 1DANT XY RNYN 1D ¥HWN NPY

So now the Xw>1 informs us (by writing N192 >73) that nevertheless he is liable to

pay for the M3 >71 -
= 9109 NINIIN 9D MNNT NI TINDT 2) DY GNT 1D ¥RWN NP NIDH

And the 82°0 of the m1wn informs us that even though the >73 was 7120 so it was

in its normal manner, nevertheless he is 919 from paying for the *73 since it is n"2%p for
killing the 72v.

mooIn offers a support to 1" w175 that Md *73 is somewhat connected to the concept of 117v:
- 1339 AN 797 PAVT RNNYT AN (3,80 47 10p%) DNINT PNNINN XN PNoan 799

Therefore the mw» regarding 7231 >72 in ©11577 P79 is written after the argument

between 32371 %''1 regarding »w -
= 119920 P09 NN 79D ©I9N XTI NP MO »1HT N2 TN 992

And after this segment of ni2> 573 the /mw» continues, ‘and the 29221 admit to

>''1 regarding one who ignites a mansion -
- D922 N%NY BN 933 197 )9V NMNAY 1) Y3 DhYNY

That he pays for whatever is in the ;79°2, for indeed it is customary for people

to place their belongings in houses’, so it is not considered n°2a nnw -
- ¥xa3 'Nna Xanh ProoMm

And the Xin of the mwn interrupted the discussion regarding Nnv with this

segment of 72y >73 which seemingly has no connection with 1mv. The explanation of this
interruption is -

- 290 MO MAY 12 NINNIN INDT 23 IY GRT )IIMNIYUNY 1HPYII9T
As I explained, to inform us that even though it is not usual for a 373 to be np>,
nevertheless he 18 2997 and this is not included in the 7105 of 10,

mMooIn anticipates some difficulty with this assumption regarding Nnv:
- 151»:\9 091D NI TIIY RIT 1SN DIVN IYN 9INT INID 1999N)

13 Others amend this to read 1" (instead of %°1n), for it is a mawn.
'* The n1wn (on 2,%0) can be divided into three segments; the first deals with the npY>n» between 73271 *"1 regarding
1M, the second regarding 121 M9 721 °7), the third is where the 0ndm are 777 to *" that by o°na there is no 1mv.
Seemingly the third segment should follow immediately after the first segment, since they are both discussing the
np1oms between 1127 °" regarding 1w, Why did the mawn interject the second segment of 7231 >73, which seemingly
has no connection to 1?7 MOIN explains that the case of N3 *73 is also related to nv.
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And even according to the one who maintains 217 212% YN, where according
to him it is not possible to exempt one from paying for J12w —

mooin replies:
- 2P0 NOIY INRY PYN 199957 XN 29NT 1IPUNYNY THIOSN DY Yo

Nevertheless it was necessary for the 71wn to inform us that he is 35917 for the 72
mo3 (even) in a case where 371 Y2 92 after the 72y was burnt —

mooIn anticipates an additional difficulty with the X9°0 of n"2%p:
- 19991 NHnm 1 NI TSN NN Tayn N9YYT 23 Yy N

And even though that the burning of the 72y was an account of »xn, and the

burning of the 373 was on account of 2%, nevertheless -
- ¥H9n N3 TN AUYN 1 I BININ 7939 NAYTA 1YY B POV 133 THVY

The rule of »''2%p is applicable here, since it all came as a result of one action —

mooIn proves this:
- 119919909 g2y Sy 19132 NIYNYA Y79 199099 DIVN MMINT INNDDT Y1

And you can know that this is so; for according to the one who maintains WX
1R 2wn (that is 7"1) we establish the 71wn (that if the 72v was 192 he is 709 on

account of »"2%p) in a case where he directly ignited the body of the slave -
— 1) YW H1INA 1NN NYT 2) Yy 9N

Even though he did not ignite the body of the 373 directly (but rather the fire spread to

15 See the X3 on X,20 that if we maintain X1 21W» WX, one is 217 even for 1Y (for if WX is his 1°X7, he is like an
7> a7X). Therefore since there is no concept of 71mv there is also no reason to exempt him from paying for the >3
since it is mo3; that assumption was valid only if we assume that since 1120 is M9, then by extension perhaps IX?
TR is also 7wy, but if 1Y is 21 then AR WY is also (certainly) 2°11. What is the W 1n of nind 72!
16 y¥17 19 195 means ‘his arrows ceased’; this refers to a case (see the X713 on X,32) where when he started the fire it
could only spread a certain distance, and after the fire started something unforeseen happened and enables the fire to
go beyond its original potential, this additional destruction cannot be considered 1°x11 for %11 12 173 and nevertheless
he is still 27m, for even though it is not 1°X77 it is still considered 113%. See 1371 27 17"7 X,25 MO [TIE footnote # 3].
In a case of 11117 125 the 1wd of 1w applies. Here too since when it burnt the >73 it was already v¥r 12 193 (and 170
applies) we may have thought that he is 217 only if it is 717K, the 71w teaches us that even in this case (where it is
1817 17 193 and it is not PR, nevertheless) he is 2°°71.
"7 We cannot say that the 72y was burnt after ¥ 12 195 for then there would be no 7in>» 2rn for the igniter (and no
subsequent n"2%p to exempt him from the >73), since it is merely n>naw 1M,
'8 A classic case of n"29p (by fire) is when someone burns his friend’s property on naw. He is exempt from paying
for the damage, since he is 1in°n 2°°17 for making a fire on n2w. In this case it is the exact same fire that makes a 211
7non and a P 2vn; therefore we say n"22p. However here the fire that causes 7n°n was 1¥n and the fire that causes a
7mn 2rn s Mn not vn; perhaps that is not sufficient to say n"a%p. It is (seemingly) like when a person kills
someone and his ox damages someone else (at the same time); there is no n"2%p. NvOIN rejects this notion.
"% See “Thinking it over’ # 1 & 2.
20 In this case it is not considered WX but rather P11 07X, where he is 7 21 for killing the 72y.
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the >7x [from the 72¥]), and nevertheless we still say »n"2%p even though regarding the 72y it was
P 17 7R and regarding the 73 it is 11 0wn WX that is P 12, The same will apply according to
A,

n1doIN concludes:
- Py 0PI XY M1 VPIT NN PV INNR PIRM 12 DINNDY 19929 O 19929 Y1V

And according to the explanations of the n''s and the 2''3w" it is understood

why the 71w» mentions 373 and does not mention (only) w>7a -
= INT RTaY) N7 27)2 1P UNRT OIVN 2y ©H90IP

And >'"'w9 explained that the reason he mentions 73 is because we conclude that
we are discussing a case where the 71 belonged to one person and the 72y

belonged to another person and nevertheless the rule of n"2%p applies. The reason we could
not say the same v17°1 regarding the w>7x without the >73, that the w73 and the 72v belong to two

separate people and we would have the same 17’17 as by >3 72y, to this "1 responds -
- Py M 113y N DIRY YWD H¥aY Tayn NHND)

For presumably the 72v belongs to the owner of the w>73, for usually a person

places his 72y to watch his w37,
- NY INI 75997 NN MY 7598 WY

And according to s""w7 explanation it will be necessary to say that when the

X3 asked on 9", what is the 71wn teaching us if it was 72y Y@ 19132 n°¥i; obviously it
is a case of n"2%p, the X3 -

1313 P 2HINNPN 13N 2399 AYPIN PRYLYY 919315 S8 NN
Could have responded to this question by saying, and according to your view
(that the mawn follows the view of >"7), there is a similar difficulty with >''9, why
mention 573 when w73 would suffice!

SUMMARY
According to *"w1 (and the n"1) we do not say m122 12 1 by an animal. The only
reason the 771wn mentions 73 according to >"w1 is because we conclude 72y 7177 >732

*! According to the N1 he mentions *7x to teach us that even though N9 >73 is AN WY, it is not a cause to exempt
him (like 71v), and according to the 0"2w" the M2 *73 teaches us that if it were not M3 he would be 7o since 77
m"22 1%. However according to *"w7 (who says that by >7a there is no difference whether it is M3 or not), so why
indeed did the 71wn mention *73 at all; it could have discussed his liability for the w73 alone.
2 moa Ty A",
3 Therefore the X723 assumed that it would be better to be discussing an *731 72y that belonged to two separate
people.
24 5y concedes that before we knew of 777 723 A7 73 there is no reason to mention >73, therefore when the X n)
asked on 9" what is the ¥17°n (since we do not know yet the answer of 7177 7231 7177 *73), there is a similar question
on "1 why mention >73! The answer will obviously be the same that it was 717 7231 7177 7).
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717. According to the 0"2w1 we do say by an animal m12? 17 7°7 and that is why
the mwn mentions Mo> 73 for otherwise M2 12 7. According to the n" he
mentions N9 >7i for we may have assumed that just as he 1s Wd for 1ML (since it
is not like 7inp) he should also be 7w for P IX INRS.

We say »n"2%p even though the nn°» 2vn is P17 07X 731 and the Pnn 20 is 737
PIIw 1 1f it was IR qwyn 'y,

THINKING IT OVER

1. What would be the ruling if one dug a 712 on naw (for which there is a 710 21°M)
and later someone fell into the M2 and was damaged? Is this a case of »"2%p and he
will be Mw» from paying, since the 701 21°1 and the 11 271 was TR TwWYR "y 83,7
or is M2 different from wx?*°

2. It is apparent from MO that (in the X9°0) the 72¥ was burnt (and killed) first
and then the *72.>” Nevertheless when n9o1n discusses whether »"2%p applies here
(he only asks that it should not apply since one is X1 and the other is 17,
however), Mo0I1n does not ask that n"2%p should not apply here since the 7n°n 2vn
(for killing the 72y) precedes the 11 21°11 (for the >73); in which case we (usually)
do not say »n"2%p. How can we resolve this?>*

3. When the X3 asks (on ") ‘Ron? °&n 7"X’; is that a question regarding the
X of the mawn, the X9°0 of the 71wn, or both??’

3 See footnote # 19.
%6 See TN WM XN # 44,
7 See footnote # 19.
2 See mp MX 7T NS M.
¥ See PYIMWRY 77 AwA NI
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